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(3 Hours) [Total Marks: 80]

N.B.: (1) Question No. 1 is compulsory.
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(2) Attempt any three questions out of remaining five questions. (5(.{:3
(3) Figures to the right indicate full marks. ‘ 0;?‘
(4) Assume suitable data if necessary. e
"0

Attempt any four :- 2@

State the importance of Load Forecasting. (3'3

What is operating reserve? Define Outage Replacement Rate (O.R.R.) %Q’

Show that M.T.T.F. is reciprocal of failure rate A. &

Draw Bath Tub curve and define all three regions in it. N

The reliability of a component is 0.3. How many such components be co@ed in

parallel to achieve an overall reliability of at least 0.85 ? [
N

Explain two state Markov model and derive the expression o \gailability and 10

unavailability. Draw the state space model for three units indiegfgng all transition

rates. Q>

Differentiate in Short term, Medium term and Long term pl@h ng. 10

N

What is the impact of weather on load forecasting? Ex weather load model 10.

What is reactive power planning? What are the r&%{hods used for reactive power 10

planning? &,

&) :
Consider a system containing five units of 40\\5&\” each with a forced outage rate of 10
0.01. Prepare the capacity outage tab Cior the system. Find Loss of Load
Expectation (LOLE) and risk factor if the“peak load is 180 MW and base load is
o S

40% of peak load. N

Derive a general expression for the Q}%‘eliability of model shown in figure below and 10
hence evaluate the unreliability eﬁ?fhe system if all component have a reliability of
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5.

Q.P. Code : 719601

2
a) Explain frequency and duration method and hence explain the concept of rate of 10
departure.
b) Explain modified PJM method in detail. 10
5
a) In the system shown in figure below, a system success requires that at least one of 10 O{_V
the paths, AC, BD, AED, BEC must be available. Write an expression for Q
unreliability of this system. If all the components have a reliability of 0.99 each, Q\b
“what is the system reliability? v
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b) Explain data requirement for composite sy, fem reliability evaluation. 10
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Course: B.E. (SEM.-VIII) (REV. -2012) (Electrical Engg.)(PROG T4728)
QP Code 719601

Correction

Q. NO. 4 (A)
Read As:

Conslder & systemE i . i riae s base load is 40% of peak load.

Annually.
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